LONG MULTIPLICATION

2-DIGIT BY 2-DIGIT

WORKSHEET - 1

15 49 33 26

x 62 x 82 x 75 x 18

30 98 165 208

+ 900 + 3920 + 2310 + 260
= 930 = 4018 = 2475 = 468
40 94 14 67

x 25 x 23 x 42 x 21

200 282 28 67

+ 800 + 1880 + 560 + 1340
= 1000 = 2162 = 588 = 1407
37 45 88 26

x 19 x 82 x 43 x 24

333 90 264 104

+ 370 + 3600 + 3520 + 520
= 703 = 3690 = 3784 = 624
62 91 75 58

x 81 x 37 X 66 x 22

62 637 450 116

+ 4960 + 2730 + 4500 + 1160
= 5022 = 3367 = 4950 = 1276
71 52 16 47

x11 x 44 x 75 x 91

71 208 80 47

+ 710 + 2080 + 1120 + 4230
= 781 = 2288 = 1200 = 4277
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